
>L l;of/L ufpFkflnsf j8f g+= ^, ldngrf]s 

?kGb]xL 

 cf=j= )&%÷)&^ sf nflu of]hgf 

k"jf{wf/ ljsf; tkm{ -;8s tyf k'n, l;+rfO{, ejg tyf zxsf/L ljsf;, phf{, n3' tyf ;fgf hnljB't-j}slNks phf{_, ;+rf/_ 

qm=;+= of]hgf tyf sfo{qmdx? j8f g+= of]hgf 
:yn÷6f]n 

k|fylds/0f nfut cg'dfg s}lkmot 

!= df]xgu+h,jf;3f/L sfnf]kq] ;8s lgdf{0f l;=uf=kf= ^ df]xgu+h   500000.00   

@= sj{nf,bf]ugf ;8s sfnf]kq] l;=uf=kf= ^ df]xgu+h   800000.00   

#= lub}of, ldngrf]s cw'/f] ;8s sfnf]kq] l;=uf=kf= ^ ab{xjf   250000.00   

$=    lub}of,ab{xjf cw'/f] ;8s sfnf]kq] l;=uf=kf= ^ ab{xjf   350000.00   

%= afGb|jf, df]xgu+h cw'/f] ;8s sfnf]kq] l;=uf=kf= ^ df]xgu+h   750000.00   

^= ab{xjf, yf?ufpF leq cw'/f] ;8s sfnf]kq] / 
sNe{6 

l;=uf=kf= ^ ab{xjf   300000.00   

&= nId0fu+h,/]x/f ;8s sfnf]kq] l;=uf=kf= ^ nId0fu+h   150000.00   

*= ab{xjf,lub}of ;8sdf sNe{6 l;=uf=kf= ^ ab{xjf   250000.00   

(= /fdu+h,ejfgL yfg ;8s sfnf]kq] l;=uf=kf= ^ /fdu+h   600000.00   

!)= s/Ë]6f]n,df]xgu+h ;8s sfnf]kq l;=uf=kf= ^ df]xgu+h   900000.00   

!!= dbgu+h ufpF b]vL k'j{ u|fa]n tyf 9n lgsf; l;=uf=kf= ^ dbgu+h   200000.00   

!@= ldngrf]s cw'/f] gfnL lgdf{0f l;=uf=kf= ^ ldngrf]s   900000.00   

!#= rGb'|sf] 3/ b]vL l;of/L vf]nf ;Dd gfnL lgdf{0f l;=uf=kf= ^ l;of/L 6f]n   150000.00   

!$= cfgGbsf] 3/ b]vL gx/ af6f] lj:tf/ tyf u|fa]n l;=uf=kf= ^ df]xgu+h   200000.00   

!%= ha}of ;8s lsgf/sf] s'nf] kSsL lgdf{0f l;=uf=kf= ^ k]6\f]n kDk 
cuf8L 

  200000.00   

!&= l;of/L 9f8 ;8s la:tf/ l;=uf=kf= ^ ab{xjf   200000.00   

!*= law't,tf/ ,kf]n, Xo'dkfO{k l;=uf=kf= ^ cfj:ostf 
cg';f/ 

  700000.00   

!(= zfGtLgu/df af6f] la:tf/ l;=uf=kf= ^ zfGtLgu/   200000.00   

@)= laleGg ;8s dd{t l;=uf=kf= ^ cfj:ostf 
cg';f/ 

  1000000.00   

@! ^ / & hf]8g] sNe{6 l;=uf=kf= ^ s/Ë] 6f]n   400000.00   

@@= a'4 6f]n nf]wsf] 3/ b]vL k'j{ sNe{6 ;Dd gfnL 
lgdf{0f 

l;=uf=kf= ^ ab{xjf   250000.00   

@#= 8f8f jf]l/Ë b]vL ha}of af6f] lj:tf/ tyf u|fa]n l;=uf=kf= ^ ab{xjf   200000.00   

@$=    ljj]slzn :s'n k5f8L af6f] lj:tf/ tyf u|fa]n l;=uf=kf= ^ /fdu+h   100000.00   

@&= vfg]kfgL pkef]Stf ;ldtL k=cdjfnfO{ O{Ge6/ 
vl/b 

l;=uf=kf= ^ k=cdjf   50000.00   
  

@(= ;h'{u+h gfnL lgdf0f{ tyf dd{t l;=uf=kf= ^ ;h'{u+h   150000.00   



#!= sdn clwsf/Lsf] 3/ cuf8L sNe{6 l;=uf=kf= ^ df]xgu+h   100000.00   
  

#@= rGb|'sf] 3/ b]vL jfGb|jf ;Dd s'nf] lgdf{0f l;=uf=kf= ^ ;h'{u+h   150000.00   

s'n hDdf 10000000.00   

 
 


